EO000054 /H

Material
No. Plan Article Quantity
1 Y005409 15480.. 1
2 Y005459 F003257 1
Y005460 (H39) F003258 (H39) 1
3 XP00007 2990000 1
4 XP00008 2990001 (39) (L) 1
XP00009 2990002 (42-44) (L) 1
XP00010 29900083 (46-48) 1
XP00011 2990004 (50) 1
XP00012 2990005 (55) 1
XP00698 2990928 (39) (R) 1
XP00699 2990929 (42 -44) (R) 1
5 Complete 1995423 1
5A M5 DIN986 1992804 1
5B M5 DIN125 1001550 1
5C X002282 1992854 1
5D X002126 1992429 1
5E XP00104 2992404 1
5F X002170 1992792 1
5G X002164 1488200 1
12 X002138 1992416 1
13 M6x20 ISO7380 1006999 1
14 X003964 1901429 1
15 M6x50 ISO7380 1006997 1
16 M6x30 DIN7984 1992721 1
17 X002137 1992415 1
18 XC00183 3992471 1
19 M6x45 DIN912 1003109 1
20 XC00134 3992885 1
21 - 1992802 (Small) 1
-—- 1992803 (Large) 1
22 M6x20 DIN912 1001493 3
23 M6 DIN985 1001680 5
24 M6 DIN125 1001564 1
25 M6 DIN986 1008492 1
Plan No. / Plannr.
FOOTREST (B06) ECLIPS X4
E000054/H
Scale/ Schaal: 1:4 |Drafted / Getekend | Verified / Nagezien |Confirmed / Bevestigd
Date / Datum 1 8/1 2/2003 07/01 /2021 07/01/2021
Init. / Init. SD SD PJ




